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Measurement conditions

e Acquisitiontime : 5's
» Spill frequency : 40 Hz
e Slow clock : 2.5 MHz
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Gaussian fitting for S curve of Channel 0

Gaussian curve fitting — SK2A channel

pedestals
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SK2A channel pedestal fitting at
1245+5 < bcid < 1245+15
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Different bcid cuts comparison for a
channel pedestal

SKIROC2

TrigCh_0 pedestal with beid cuts
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Threshold

Threshold

Threshold vs BCID

SKIROC2

78 TrigCh_0 : thr vs bcid at bcid > -999
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BCID around ValEvt
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No. of hits

BCID around ValEvt contd...
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Mean (pedestal)

SCA pedestal fitting (highGain)
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[ADC]

[ADC]

Ch_63 : SCA 0 pedestal for TrigCh_0
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TrigCh_0 : Channel 63 SCA 0
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Correlation between channels (excluding
triggered channel) - SK2A
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highGain{0][0][2]

highGain relative plots

Cut : threshold > 180 ; Triggered Ch : 0

320

310

300

290

280

270

260

250

240

Ch1_2:SCA0

- Trig_Channel 0

= Entries 2745
— Mean x 279.5
& Mean y 278.6
— Sid Dev x 2.878
= Sid Devy 2.766
: L 1 1 | 1 1 11 | 1 L 1 1 | 1 1 11 | 1 L 1 1 | 1 1 11 | 1 Il 1 1 | 1 1 11 | 11 1 1

250 260 270 280 290 300 310 320
highGain[0][0][1]

Ch1:Ch2for SCAO

highGain[0][0][62]

320

310

300

290

280

270

260

250

240

Ch 63_62:SCA 0

= Trig_Channel_0

= Entries 2745

— Mean x 286.4

= Mean y 277.8

= Std Dev x 3.542

= Std Dev y 3.203

— -

— ] -

B oo b v b b e b e e e e by
240 250 260 270 280 290 300 310 320

highGain[0][0][63]

Ch 63 : Ch 62 for SCAO

30

20

10

0






	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13

